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SECONDARY MATH I
Module 3 Study Guide: Quadratic Equations

Directions: Show ALL work.

Simplify the following expressions using exponent rules and relationships. Write your answers in exponential form
with no negative expenents in your answer.
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Simplify each radical below, using { = vV—1 or i? = —1 if necessary. .,)
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Simplify the following imaginary/complex numbers.
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Simplify the following radicals.
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Soive the following quadratic equations for the x-intercepts (also called roots, zeroes, or solutions) by factoring,
S "bm. Simplify radicals as

completmg the square, taking square roots, or using the quadratic formula x =
—1 if necessary. Round any decimais to two decimal places

much as possible and use i =v—1 or i =
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21. 3n% =12n + 26
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24. Graph f(x) = (x +2)* -2 25. For #24, write the quadratic in the following
forms:
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26. Graph f(x) = x>+ 3x + 4 27. For #26, write the quadratic in the foliowing

forms: _
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28. Graph f(x) = (x — 1)(x = 5) 29, For #28, write the quadratlc in the following’
forms:
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